CSX VAW N

ARz &1E
Pole Band Type A
ARz
SB01010000 1 4
@ X
| 30 25
3 s ]
B+ — <
| @V
4y | |
$17.5 2—0617.5
D=350 G E=:370 kg
Afz SHEE —LFH
SB01030000 1 4
@ X
| 30 25
3 ‘ o 2
B+ — <
| (D(
4 & |
9 |
817.5 2—917.5
D=350 R EE:370 ke
o 3 Wm A = # B g &
1 INURARE 15| 835400
2 mARILL-F Uk 25 | SS400 M16 X 51 X 38
3 | RARILLFIL 25 | SS400 M16 X 90 X 75
4 IThEs 4 SUS304 M16
5 YL 4 SUS304 b4 x40




BAE/NR s

: X2 SB01040000
Pole Band Type Special A (75320000)
=
i o
2 |
30 .25
3 s
| n °
) N
- .- . . Vv 1 MmO
1 lI N
! ]
@ ' i
i | i
| 1
Wl
. 4
$23.5 4—¢17.5
~7 \ L
- 8
| 2 S
-O- g
Py AN N
D=350 R EE:9.86 kg
B B & 4 = B " &
1 INRRIK 15| 55400
2 mEaRILL-F vk 25 | $S400 M22 x 54 x 38
3 NAERILL-FIk 45 | SS400 M16 X 90 X 75
4 (Lt £ 6 SUS304 M16




CSX =AW N

B1#z B2#Z

Pole Band Type B1 B2

Bifz -I
SB02010000
i ©
| 30 25
& 5 :
Hr+—F — &
| LO(
3 ) ‘ )
2—9617.5
|
Fan ¥ ! ™ ﬁ (o]
N I N uN) Ln1
D=350 MR EE:3.00 ke
o 0} om A = ® B " &
1 INVRERK 15| $5400
2 NAERILL-FIk 25 | S$S400 M16 X 90 X 75
3 (Lt £ 2 SUS304 M16
B2z 1
SB02020000
i o
<:% | 35 30
‘ Y
/] ! NI >
Tt A —F= 9
\ 1 4 o
3 1 } 1
2—921.5 o
A C A 2
Y ) | Y
D=350 MR EE:580 ke
o 0} om A = ® B " &
1 INVRERK 15| 55400
2 NAERILL-FIk 25 | $S400 M20 X 90 X 75
3 (Lt £ 2 SUS304 M20

194



%E'.*I/ AR seiw

X & SB02060000

Pole Band Type Special B1 (76320000)

| ‘
|
25 30 | 3Q_ 75 _25
<@\\nJ'r)/ ‘ 2 Ngm ml ©
~HE . T H—H ¢
i | ©
L ! i
|
|
| 1
3-917.5

|
2O I N S
|

D=350 M REE:374 ke

i B ® % = # B " &
1 INVERIR 15| SS400 FB50 X 6
2 | RARILL-FUb 3% | $5400 M16 x 90 x 75
3 EhEE 3 SUS304 M16

195



%E'.*i/ AR e

X & SB02030000

Pole Band Type B3 (78120000)

1 ‘ﬁ‘@}[

D=350 M RE=:16.50 kg

i B & 4 = # B " &
1 INVERIR 15| SS400
2 | RARILL-FUb 45 | S$S400 M20 x 90 x 75
3 RAIVIRILE-Fub 15 | SS400 M24 x 90 X 40
4 EhEE 4 | SUS304 M20
5 | BlYEY 1 SUS304 ®5 %50

196



E50 = AN NI,

X & SB02070000

Pole Band Type Special B3 (76340000)

<:>\\\25 30 39 75 S0
\rr'pé 2 S\crh mm | ©
-F———— A ——— T H—H ]
C— , 4 - ]
@/ 1 | T W
4 i d
| 3
| 1
|
3-921.5 0

©,
i
5

32.5

D=350 M REE:730ke

i B & 4 = # B " &
1 INVERIR 15| SS400 FB65 %9
2 | RARILL-FUb 25 | $5400 M20 x 90 x 75
3 RAIVIRILE-Fub 15 | SS400 M20 X 90 X 40
4 EhEE 2 SS400 M20
5 | BEYry 1 SUS304 ® 4 % 40

197



%E'.*i/ R ow

[X]# SB03010000

Pole Band Type C (88200000)

D/2-5

D=350 M REE 240 ke

i B & 4 HE # B " &
1 INVERIR 1 SS400
2 | FYEIYRILE-Fub 25 | $5400 M16 x 80 x 55
3 EhEE 2 SUS304 M16




%E'.*I/ R g

X2 SB04010000
Pole Band Type D1 (78300000)
|
’ ©
|
|
! 30,25
3 ’ QQ Ln
, | =
- 7 | __:___________ - - - - - - "~ \ - N
i | 7 —
! | T o
a | |
T ’ T
|
2) |
1
40
T
817.5 2—917.5

<7 LE:-ﬂ' ;
| |
| | | | :
<\ . PN

25125
50

D=350 M REE:350 ke

o B ® % = # B " &
1 INVERIR 15| SS400
2 mAERIL~F b 15 | S$S400 M16 x 51 x 38
3 | RARILLFUb 25 | $5400 M16 x 90 x 75
4 EhEE 3 SUS304 M16

199



%E'.*i/ AR oo

X & SB04020000
Pol T
ole Band Type D2 (7831000)
| S ‘
5 s 3025
| ©
L l T’
B et VAP s == iy
S o TN | s
A | .
@ ‘ j
| 0
| i T i\\©@
25j: 360 j,:25
410
2—917.5
|
! (@]
_€\_)_ g ‘ _(_’) N
L _ﬁ H ~J O
o | B S
7T o i (N
| ! (@]
h! | IR E
| 4—917.5
D=350 MR EE:1000 kg
B B & 4 = B fr &
1 INRRIK 15| 55400
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 25 | $S400 M16 % 50
4 (Lt £ 6 SUS304 M16




E50 = ANY] NI

Pole Band Type Special D2

X & SB04070000
(73100000)

2
4 .
3
@/ i} | ‘
‘ 300
350
2-917.5 4-21/.5
|
~ 4 Te]
Lo (Sl | s
\ . N
Zks il s AEE
~ M . /H\ (9] =
-0 Kam:
2\ I~ N
D=350 MR EE:556 kg
RIS B & 4 = ® B " &
1 INVRERK 15| 55400 FB100 X 6
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 25 | $S400 M16 % 50
4 (Lt £ 6 SUS304 M16




%E'.*i/ N N
X SB04030000

Pole Band Type D3 (78320000)

L |

am [

N,/
T
35 \ 40
75
o
\/
25| 50 |25
100

4—917.5

D=350 M RE=:12.00 kg

o B ® % = # B " &
1 INVERIR 15| SS400
2 | RARILL-FUb 45 | S$S400 M16 x 90 x 75
3 | RARILLFUb 45 | S$S400 M16 X 50
4 EhEE 8 SUS304 M16




E50 = AN NI

Pole Band Type Special D3

X & SB04080000
(73110000)

25

\|7/ o
=)

6’25 6

3
| O
300
4
350
2-917.5 4-917.5
|
< ' = )
-O-|| 450 | s
Z ™~ 9 ol 8
S NS | Z v 2
-0 ' G
P I N
D=350 MR EE:1083 ke
RIS B & 4 = # " &
1 INRRIK 15| 55400 FB100 X 6
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 45 | SS400 M16 X 50
4 (Lt £ 8 SUS304 M16




%E',*I/ NP

Pole Band Type F1, F2

F1fz S
SB05010000 @@
O
s =t
| 1
S
Q= 3
8 25||6 5 Oo67 50 QS/Q
L{O) T - — T ~ _'_{
o = 5
@;K@ D=350 R E=:4.00 kg
F2#z N
SB05020000 o2
&
————‘———L% % 1====
| 1
N
Q= 3
6 25|I§ 5 057 45 ng
o T | T = n"n"/(/} @)
=
@ 9 D=350 R EFE=:4.00 ke
o B & % = % #B g &
1 INURARE 15 | 83400
2a | BFEE 1 SS400 LI
2 | HWFEE 1 SS400 TEBH
3 | RARILLFIL 25 | SS400 M16 X 90 X 75
4 | RAAVEARILL-FIk 15 | SS400 M16 X 90 X 30
5 IThEs 2 SUS304 M16
6 YL 1 SUS304 b4x40

204



%E'.*I/ {DP HEF1T 4F2R

Pole Band Type Special F1, Special F2

1z N
SB05070000 @@
&
=Sl o W#B
3 ’ VRIS Zon iy i
| 1
S
Q=
6 25||6 5 3 0067 50 QS/Q
mmn M) m
: | o) M |
¥ Q}Ké@
D=350 ® R FE=:6.00 kg
2Rz N
SB05080000 o2
&
————— e
| 1
N
Q= 3
6 25|I§ 5 057 45 ng
BT Lo
S| ) B 21
v 7 %
@ 9 D=350 ® R FE=:6.00 kg
o 3 Wm A = % #B g &
1 INURARE 15 | 83400
2a | BFEE 2 SS400 LI
2 | HWFEE 2 SS400 TEBH
3 | RARILLFIL 25 | SS400 M16 X 90 X 75
4 | RAAVEARILL-FIk 25 | SS400 M16 X 90 X 30
5 IThEs 2 SUS304 M16
6 YL 2 SUS304 b4x40




Sy S AN

R

NF1#Zz NF2fZ

Pole Band Type NF1,NF2

NF1fz -
SB05030000 5
B
————— | ~—-—g ffe=m
N
" 3 jj! 6 4) & 50
75 @ &
9 —J:r-—-—'i % 0 -—4: [ Iu:lC D=350 R EFE:690 kg
NF2#2 CD%
SB05040000 5
B
————— | —- g
; i
93 Nk
(@]
=) I
92‘1; 6\@ 67,45 &
[ve]
gl -— W ——4|r’n'“" IS D=350 MEAEE:690ke
[¢e] | -—T—- |LLJ‘-‘—I<\@> [=]=] 20
o B & A M= % #B g &
1 INURARE 15 | 83400
2a | BFEE $S400 LI
2 | HWFEE $S400 TEBH
3 £ C5191
4 | RARILL-FIL 15 | SS400 M20 X 90 X 75
5 | RAaVARILL-FIk 15 | SS400 M16 X 90 X 30
6 IThEs 2 SUS304 M20
7 2 [0 ] SUS304 b4 x40

206



%EI.*I/ R g

& SB06010000
Pole Band Type K1 (78500000)
! M
2 [wr—us
| 3
' o
@\ !
oT . ‘ ,
= 2 s 1
5 e =W ] \_H, 0
rlg | Yt
(@] Tg] 0
e | o
= |
‘ |
I
|
mn// o ; b
|

| < <
450
0 4—017.5 8—917.5 @ 10
o ~
= /! | | I!I | | 1 >
1 | | 1l | | ji
o YR ﬁ} ¢ﬁ¢ % ed
S A e e | R T
,J_r | | M | | J_r)__
3 | | I‘I | |
| | | H [ | |
| | | N | | .
0 | I
N ™~
N N
D=350 MR EE:26.77 kg
S B & 4 = # " &
1 INVRERK 15| 55400
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 85 | 3400 M16 X 65 X 55
4 NAERILL-FIk 85 | 3400 M16 X 55 x 38
5 (Lt £ 20 | SUS304 M16

207



%EI.*I/ "] e

X & SB06020000
Pol T K
ole Band Type K2 (78510000)
1 ! 1
Q | 3
@) \ | ®
8/5/0\\ ' ’ .
(@]
:EE (r ’ N M ILO
(N _ I R _ oy
A | i o
88@ | e
233 |
o ’ 13025
1 i Y
B
o T '
40_|_ 370 .40
450
0 4-917.5 4-917.5 10
N N~
m ’ 1 1 I!I 1 T l N
/N i DY
i AN il T
Yg)
SN Bl < A R
AL i N
Y ! Y
LQ 1 1 I|I 1 1 Lr?
N ™~
N N
D=350 MR EE:2537 kg
S B & 4 = B fr &
1 INVRERK 15| 55400
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 85 | 3400 M16 X 65 X 55
4 (Lt £ 12 | SUS304 M16




E5F = F AN S

. X & SB06050000
Pol T | K1
ole Band Type Specia (75330000)
{ o
‘ 3025
1 QQ
®\[ ) | Ll
Hi— A —H 8
©
0 (IO
N (M W©
N[N N
EIEYE)
0[O W
W
cee
[@)]
()]
o 4—-0¢17.5 2
o~ 8—-917.5 o™~
N
III \3‘<
III % N
<0 O OO rad
o ] o
% e I s
A
Bai ; A
o |
o 0
M ™~
N
D=350 MR EE:19.10 kg
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB125 %6
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 45 | SS400 M16 X 65 X 40
4 NAERILL-FIk 45 | SS400 M16 X 55 X 40
5 (Lt £ 12 | SUS304 M16




E5 = AN LS

. X Z& SB06060000
Pole Band Type Special K2
ype =p (75340000)
\ 13025
2
y, ! \M nal ©
- \- - ] 1_ L0, _
[&N]
= ! .
@/l ‘ ©
-L | -L oo o
‘ N ™M
N[N N
i DR
19 EIEE:
1
3 | sles
am o
I % @
40\ 370 \40
450
0 4—017.5 4—017.5 0
< )
g - S
N ||| AY
6 i &7
Q il o 9
© I -
O i O
1
0 ! L0
3 ~
D=350 MR EE:17.75 kg
S B & 4 = # " &
1 INVRERK 15| 55400 FB125 %6
2 NAERILL-FIk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 45 | SS400 M16 X 65 X 40
4 (Lt £ 8 SUS304 M16




CSX =AW N

Vifz
& SB09010000
Pol T 1
ole Band Type V (78800000)
3 ' ! 6
| o
2) |
! 30,25
4 | Q
| N\l | ©
- - -1t - - " " "~ T - - - - - I - __(\j
H_ ¢
& | ! ’
{ 1
aanal
O
3Q, 104 1 30
164
0 4—17.5 0
N N
M | M
~7 ii_:_ii A]
(|
< g (il > g
{% AN
‘ H II/ 4?
A\ N N
0 | 0
N 3—017.5 ~
M M)
D=350 MR EE:1135kg
S B & 4 = ® B " &
1 INVRERK 15| 55400 FB125 %6
2 mEaRILL-F vk 45 | SS400 M16 X 56 x 38
3 JL—k 2 $5400 t6
4 NAERILL-FIk 45 | SS400 M16 X 90 X 75
5 NAERILL-FIk 25 | $S400 M16 % 50
6 (Lt £ 10 | SUS304 M16




%E'.*i/ R ww

X & SB09020000

Pole Band Type V2 (78810000)

2) |
30,25
@\,«x } S
<o)
/ | N\
Hl—— A=
( N\ \ | ]
® | ‘
| 1
am am
ﬁ @
30| 104 | 104 |30
268
o) 4—¢17.5 n
N N
M) | M
~N7 I ; I A}
| R |
=71 Te)
< 8 1Ll SUEE
Lo i
| = |
23\ 1l N I
0 | 0
o 4—917.5 o~
M M)
D=350 MR EE:1256 kg
S B & 4 = ® B " &
1 INVRERK 15| 55400 FB125 %6
2 mEaRILL-F vk 45 | SS400 M16 X 56 x 38
3 JL—k 2 $5400 t6
4 NAERILL-FIk 45 | SS400 M16 X 90 X 75
5 NAERILL-FIk 45 | SS400 M16 X 50
6 (Lt £ 12 | SUS304 M16




%EI.*I/ AP NS

X2 SB07010350

Pole Band Type N1 (78603500)

2—917.5 2—017.5

feIfe—— [T

25|25
50

D=350 L REE:470ke

o B ® % = # B " &
1 INVERIR 15| SS400
2 | RARILL-FUb 25 | $5400 M16 x 90 x 75
3 | RARILLFUb 25 | $5400 M16 x 50 x 38
4 EhEE 4 | SUS304 M16




%EI.*I/ "] N

X & SB07020000

Pole Band Type N2 (78610000)

2—917.5 2—917.5

! |
feIle———517é}

D=350 MR EE6.13ke

25]25
50

S B & A =3 # B i &
1 INURARK 15 | $S400
2 | RARILL-FVE 25 | $S400 M16 X 90 X 75
3 | RARILL-FVUE 45 | SS400 M16 X 50 X 38
4 | IFhEE 6 | SUS304 M16




%E'.*i/ ‘R cwesm

Pole Band for Supporting GW 5(37%12?)%2)%%?0
' o
|
|
®\ i | © i
' | ] ©
n ' I! —
— = I L T
1 1 T k ‘ AJ Lo
22| 60 30| .30 25

25

7\ L I
éﬂ | ol
N
D=350 MR EE:340 ke
o 0} om A = ® B " &
1 INVRERK 15| 55400
2 NAERILL-FIk 25 | $S400 M16 X 90 X 75
3 (Lt £ 2 SUS304 M16

215



EE.*E/ \U b cwermEoim
EIZ SB10020000

Pole Band Type D1 for Supporting GW (75210000)

5 2‘5! 6

50129

25

-
25

D=350 M REE: 354 ke

RS B ® % = # B " &
1 INVRAIR 15 | SS400
2 | mARILL-FUb 15 | S$S400 M16 x 51 x 38
3 | RARILLFUb 25 | $5400 M16 x 90 x 75
4 EhEE 3 | SUS304 M16
5 | ElYE> 1 SUS304 b4 x40




CSX =AW N

GWX R 4$¥D2R2

) ) & SB10030000
Pole Band Type Special D2 for Supporting GW (74000000)
= PN
g \817.5 $
25i 300 i25
i /@
o | |
<o)
@/M | .
% 30,25
| (bg
% /) | §°’ j
—H ] H-<
N\ 7 1
i [Ce)
2) |
| 1
5 |l -
317.5 4—017.5
|
5] MR
' _{ 0 | \W
| € o >| |8 S
R 2
© | AN AR
P | i | AN N
D=350 MR EE:850 ke
B B & 4 = ® B fr &
1 INRRIK 15| 55400
2 mEaRILL-F vk 15| 3400 M16 % 110
3 NAERILL-FIk 45 | SS400 M16 X 90 X 75
4 NAERILL-FIk 25 | $S400 M16 % 50
5 (Lt £ 7 SUS304 M16




%E'.*I/ N1 RS

- X SB10040000
Pole Band for Supporting PW (75220000)
! Q
45 | 3025
| &
_rm n ! N ©
N\ b H o
W W ' :
el o ‘ ' 4
230 !
' 1
25 80 100 25 3—917.5
L),
ol o
0l w0
[N

H—o——oF———— [E— "o
yf L Y i I
< 3-617.5

D=350 L REE 495 ke

i B & 4 = # B " &
1 INVERIR 15| SS400 FB50 X 6
2 RftEE 1 SS400 L50 X 50 X 6
3 | RARILLFUb 3% | $5400 M16 x 90 x 75
4 EhEE 3 SUS304 M16




%E'.*i/ AR eap

. X2 SB01020000
Pole Band Type Light A (73330000)
, ©
|
|
' 30,25
3 9
| Nem ]
-—H+—— A —H-%
L < .
@ | ©
1 |
|
| i

$17.5 2—917.5
~ 7 ) 1 1 z
ul
o] &
3 ] ] I

D=350 L REE:375 ke

2525
50

o B ® % = # B " &
1 INVERIR 15| SS400 FB50 X 6
2 mAERIL~F b 25 | $5400 M16 X 126 X 80
3 | RARILLFUb 25 | $5400 M16 x 90 x 75
4 EhEE 4 | SUS304 M16
5 | AES 2 | SS400 t4 x 55 x 55




%E'.*I/ AR soip

: X & SB04090000
Pole Band Type Light D1 (73200000)
|
| o
|
3 i 30,25

1 QQ
| N

-—Hr— A —H-5

<o)

25|25
50

~7 T T )
Z\ !_—'_—! IS

D=350 L REE:352 ke

o B ® % = # B " &
1 INVERIR 15| SS400 FB50 X 6
2 mAERIL~F b 15 | S$S400 M16 X 126 X 80
3 | RARILLFUb 25 | $5400 M16 x 90 x 75
4 EhEE 3 SUS304 M16
5 | AES 1 $S400 t4 x 55 x 55




%E'.*i/ AR &0

Pole Band Type Light D2

[X]# SB04100000
(73210000)

6.1125|| 6

L 300 |
350
|
ie]
I, 2 | AL
~, Yo ’ i
o | ’ ol 8
*\ m | IA LO T
) )
/I\\ I II\ N
\2—917.5 4-¢17.5
D=350 MR EE:877 ke
o B & 4 = ® B " &
1 INVRERK 15| 55400 FB100 X 6
2 NARI ST ILF vk 45 | SS400 M16 X 90 X 75
3 NAERILL-FIk 25 | $S400 M16 % 130 x 90
4 (Lt £ 6 SUS304 M16
5 HEE 2 S$5400 t4 X 55 X 55




%EI.*I/ AR mosw

) X2 SB04110000
Pole Band Type Light D3 (73220000)
| |
i < T
| i
5 } S 30,25
' Nain | ©
________ _Hf ©
<o)
am _©
<o)
|
300 |
350
|
T
e | -
?T'\ i <$1 L(o) 8
o\ ™ - o
i | L&

\2—217.5 4—917.5

D=350 M RE=:1041 kg

o B ® % = # B " &
1 INVERIR 15 | SS400 FB100 % 6
2 | RARILMETILFyb 45 | S$S400 M16 x 90 x 75
3 | RARILLFUb 45 | S$S400 M16 X 130 X 90
4 EhEE 8 SUS304 M16
5 | AESE 4 | SS400 t4 x 55 x 55




=5 =W AN NIy
X & SB04050000

Pole Band Type Light Special D2 (73000000)

|
4 ! (
T T
! 300 ‘
2—¢17.5
350
|
! 10
1 | / A
—+ )y © . 3 oF ™~
T | ~
I M)
28 |
D=350 MR EE:7.28 kg
o B & 4 = ® B " &
1 INVRERK 15| 55400 FB75 %6
2 NARI ST ILF vk 25 | $S400 M16 X 90 X 75
3 NAERILL-FIk 25 | $S400 M16 % 130 x 90
4 (Lt £ 4 SUS304 M16
5 HEE 2 S$5400 t4 X 55 X 55




CSX =AW N

YD 7o ILH

Pole Band Type Light Special D2 for Angle Steel

[X]# SB04120000
(73020000)

5025

2—¢17.5
~ ! [\~ 0
’ ~
o B
] LD ,\
| ~
7 ) 7\ N
2—-¢17.5 ’
D=350 MR EE:7.03 ke
o B & 4 = # " &
1 INVRERK 15| 55400 FB75 %6
2 NAERILL-FIk 25 | $S400 M16 X 90 X 75
3 NAERILL-FIk 25 | $S400 M16 % 50
4 (Lt £ 4 SUS304 M16




E5F = W AN (RS

. . & SB04060000
Pole Band Type Light Special D3 (73010000)
L i : 1
. ©
| 1
! 30
2 S
| \ T] <o)
_ ol Vv _+ _ 0
| —
[€e)
4 |
3 |
| ©
L i i J. L()
@) T
]
| 300 |
350
|
! I
e | e
1 \ ~
| Ny
28] | 2—817.5
D=350 MR EE:893 ke
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB75 %6
2 NAERILLETILF Uk 25 | $S400 M16 X 90 X 75
3 NAERILL-FIk 45 | SS400 M16 % 130 x 90
4 (Lt £ 6 SUS304 M16
5 fHES 4 | SS400 t4 X 55 X 55




%E'.*i/ AR &0y oo

. . & SB04130000
Pole Band Type Light Special D3 for Angle Steel (73030000)
. H
| | |
0o i i
i ©
| 30,25
2 o
o)
| Nen|©
B = I R 7 S == BT
| i«
) (o]
4 | ’ ]
i 1
@\’_1 : o | ©
@/1 ] | qp ©
- -+
300
350
2—¢17.5 2—917.5
|
~ 1 P LO)
%ﬁ | MK
MY
| ~
7 i ~ MY
D=350 M REE 842 ke
B B & 4 = B " &
1 INRRIK 15| 55400 FB75 %6
2 NAERILL-FIk 25 | $S400 M16 X 90 X 75
3 NAERILL-FIk 45 | SS400 M16 X 50
4 (Lt £ 6 SUS304 M16




%E',*I/ AR sooow

. & SB99110000
Pole Band Type S Square Steel Pipe D2 (77360000)
f\\ﬂ 6.5 6
| i
Ty ] o |
N___LL i__ } gj_ ¢£N -
N N
_\ ’ )
3-18x28 ’
) q)g
o 2 e . .
™ N |
é s
3 R
S — ] HE=
N @ @
n G
|
T ] | [ T
— 'J‘BE} i 0
1] ATIE :
' |
6
D=350 MR EE:9.00 kg
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB75 %6
2 NAERILL-FIk 25 | $S400 M16 X 90 X 75
3 (Lt £ 2 SUS304 M16
4 BES 3 SS400 3.5 X 50 X 50
5 NAERILL-FIk 35| $S400 M16 X 120 x 40
6 | BlVEY 3 | SuUs304 d4%40




%E',*I/ AR soosw

. & SB99120000
Pole Band Type S Square Steel Pipe D3 (77360000)
,r \4 6,25 .6 ( I
| |
d HA—IR . ARHR— m—| =
—GHT o fE T
{% i ﬁ}
| 6
3—18%X28 ‘
| &
ol o '
22 olf——— e Ot
|
|
|
{%} | é}
—] -
——Hr——AH — 19
- D o

2
.
\\|
/___
SN
@ 1
-
\
/___

4 3
T ) ~ ! [~
o= #BE 0
! P i N
6
D=350 R EE:13.30 kg
i B & 4 = # B " &

1 INVERIR 15 | SS400 FB75 X 6
2 | RARILL-FUb 25 | $5400 M16 x 90 x 75
3 EhEE 2 SUS304 M16
4 AHEE 6 SS400 13.2 X 50 X 50
5 | RARILL-FUb 65 | SS400 M16 X 120 X 40
6 | BYEY 6 SUS304 ® 4 x40




BAENE (EFERA) s

Pole Band Type B3 Special for High—speed Rail “Shinkansen

. & SB02080000
(72670000)

Ez

-

7 8
9 e ! T o
o= A= :
i ) | O
Y ’ 5
3 25| 40|35 \
1 T
220 |45
®25.5 4—-921.5
— | ®$23.5
\_I_/
< g
3 +F-c—m {g o
N o) Te)
<+ @ /+\ <
o 1
P{) | — | ! IJ_I\H
D=2163 B ZEE:17.06 kg
S B & 4 H=E B " &
1 VAW X7.N 2 SS400 FB150 % 9
2 NARI ST ILF vk 45 | S5400 M20 x 100 x 85
3 NARI ST ILF vk 15| SS400 M24 x 90 X 45
4 NARI ST ILF vk 25 | $S400 M22 X 95 X 75
5 (Lt £ 4 SUS304 M20
6 (Lt £ 2 SUS304 M22
7 BUE 3 SUS304 ®5%50
8 iR HHIEF VR 4 SUS304 M20
9 iR HHIEF VR 2 SUS304 M22




B/ Uk (%ﬁﬁ?ﬁﬁﬁﬁ ) s
X2 SB03020000

Pole Band Type C Special for High—speed Rail =~ Shinkansen (7265000)

2
D=350 R EE:242 kg
i B & 4 HE # B " &
1 INVERIR 1 SS400 FB50 X 6
2 | $YBYRLLET L+ | 25| SS400 M16 X 90 X 65
3 EhEE 2 SUS304 M16
4 | FERDIHIEHF I 2 | SUS304 M16




%EI.*I/ {T/I‘\\ (%ﬁﬁ?%ﬁﬁﬁ) CPWRYST- IS5y iER

Pole Band for Clamp for CPW and for Supporting Bracket, [X]# SB10050000
High—speed Rail “Shinkansen (71030000)
3 ; 30 .25
IO
| Ngim @
—H+—— e —H %
in ' A o
@/[ ne] ’ an
il ’ il
h\ ! /‘
o
| o)
> | |°
e
150
JS9 B 2-9011.5 55 2—917.5 0
| 2
N REDN ‘
I S S N €Y
Z\ : i : IS
| 0
22V IE2—-9015 90 %
| I |
| 1 |
- i’%‘_*_’&'i -
| | |
! D=350 H R EE:535 kg
o 0} om A = # H " &
1 INVERIR 15| SS400 FB65 % 6
2 EEE 1 SS400 FB65 % 6
3 | RARILMEITILFyb 25 | SS400 M16 x 90 x 75
4 L kS 2 SUS304 M16




BN (EFFERA) or

Pole Band Type K1 for High—speed Rail “Shinkansen”

X & SB06030000
(7268000)

:

(D=450) 520

uwly WU 11 Wil iy
3 |
1 |
‘ ©
28 I |
<+ < @\ i o ©
85 Sy - S
Il . ﬁ"” ©
[N
SEX¢ | 30025
| o
a /
rr!'n nal M : M T
|
@/40’ 80 ’ 70 ’ 70 ‘ 70 ’ 80 ’40
T T |45o| T T
4-¢17.5 8-¢1/.5 =0
| N
Lo S — &bl
N ‘ ) T/ o
3 |1 | NEE
\%}q)— . =
|
! 0
™~
N
D=350 L RE=:2780 kg
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB125 %6
2 NAERILLETILF Uk 45 | SS400 M16 X 90 X 75
3 NAERILLETILF Uk 85 | 3400 M16 X 85 %X 70
4 NAERILLETILF Uk 85 | 3400 M16 X 75 X 60
5 (Lt £ 20 | SUS304 M16
6 | BlVEY 16 | SUS304 b4 %40

232



BN GERERRA) won

Pole Band Type K2 for High—speed Rail “Shinkansen”

X & SB06040000
(7269000)

L | 1
] |
1 ! .
2128 |
S| | Il
RN AN ©
2123 7 | N,
[N &
cleg \ | oy
| ’ <o)
3025
9 } |
:
370 1 40
450
4—917.5 2
| l | o
N | ‘ |
N : i : P
N
gl | IR
A ' A
+\_
o] \ S
! 0
4—¢17.5 ~
N
D-350 M REE 2563 ke
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB125 %6
2 NAERILLETILF Uk 45 | SS400 M16 X 90 X 75
3 NAERILLETILF Uk 85 | 3400 M16 X 85 %X 70
4 (Lt £ 12 | SUS304 M16
5 | BlVEY 8 | SUS304 d4%40




BN (G ERA) v

X & SB99070267

Pole Band Type KY for High—speed Rail ~“Shinkansen (7272670)

N
&)
i
O
_4_ y1_
oTIEH-

1
( Q |
® oq
o)) ! / ! ! 4
g | _A ‘ \
Ly I R A B B D
e == | -
RS J E—
7 |
9 \\l
4 = 4
\_ | | | Y,
I " 9
| 120 N \@
190
2—-¢16 4—¢21.5
| I— i | I— o
| : \ | "
O | 1Y
i)
T ——-+-;{9»—£—+—- ‘=g &
| L | 1€
| (@)
| — | ! C— M
D=2163 B R EE: 1142 ke
RIS B & 4 #H= ® B " &
1 INURARIER 1 S$5400 FB125% 6
2 NAERILLETILF Uk 45 | SS400 M16 X 60
3 NAERILLETILF Uk 45 | SS400 M20 x 100 x 85
4 (Lt £ 4 SUS304 M20
5 (Lt £ 4 SUS304 M16
6 | BlVEY 8 | SUS304 d4%40

234



%EI.*I/ {T/I‘\\ (%ﬁﬁ?%ﬁﬁﬁ) NWARIS T IS5 yhXEH

Pole Band for Clamp for NW and Supporting Bracket, 5 X2 SB10060000
High—speed Rail = Shinkansen (71000000)

] ©
{ 30 .25
3 S
<o)
| NI
_ o ____________H__ L0
[q\|
| (o_
wil)
[
Lo
O -
ve]
I!I I!I J
| |
2—-917.5
JSrurB4—011.5 50 90 2
| M
\: & ! :/
—-G}—l—— D —%3————%————&— O—-H 1—F 3
Pl | s
! 10
135 o
9SVUTRA—015 90 90
\ |
| é | |
O — QO
| | |
] I ]
D=350 MR EE:653 ke
o 0} om A = ® B " &
1 INVRERK 15| 85400 FB65 X 6
2 TESE 1 55400 FB65 X 6
3 NARI ST ILF vk 25 | $S400 M16 X 90 X 75
4 (Lt £ 2 SUS304 M16




%E'.*i/ \W2N (%ﬁﬁ?ﬁﬁﬁq ) VaALLEEA

Pole Band for Supporting Insulator of V Suspension, 5 X2 SB99130000
High—speed Rail = Shinkansen (72330000)

100 i
25,50 _ 25
— — | “

) | 3025
IENIEN| B> N |

70

120

D2163 HGMEE 561 ke

i B ® % = # B " &
1 INVERIR 15 | SS400 FB100 % 6
2 | RARILMETILFyb 45 | S$S400 M16 x 90 x 75
3 EhEE 4 | SUS304 M16

236



BN (FREREA) sesees

Pole Band for Protective Wire Direct Suspension, 5 [X] 2 SB99230000
High—speed Rail =~ Shinkansen (7234000)

65
32.5 32.5
i ‘ 35 .30
NaaV, | $ NI | ©
o I = R I == BT
l \ ! ! . N
l—j—l—\ ‘ /—1—I—I_‘
/ﬂ?\ i i ] | { i ] o
| T | T
e A_
1 [Ce} !
| = |
9 (@]
T N 38 ‘ 38|
%)
& $17.5 LIS
D=2163 B ZEE: 513 ke
o B & 4 = ® B " &
1 INVRERK 15| 85400 FB65 %9
2 A EE 1 $5400 t9
3 NAERILL-FIk 25 | $S400 M20 X 90 X 75
4 (Lt £ 2 SUS304 M20




BN (EFERA) tore—srasw

Pole Band Type S for Truss Beam 5 5 [X]# SB09030000
for High—speed Rail ~Shinkansen (75110000)
' o
| 1
] | K
| ol o)©
- /=i - o H__ WO
£Z
| e
6 1
{ 3
@ o
3—-¢17.5
o 30, 104 o
N N
| A T LI L —— ab
& ol & 5
o IFT41 o fe]
—) 0 : :—,-‘i—\—: : o I%e) ﬁ
o o o
1 LQ ‘ L Lr).
S 4—921.5(817.5) >
X O)RNITaEEHA
D=350 M REE:15.26 ke
B B & 4 = B " &
1 VAW X7.N 15 | $S400 FB125 % 9 (6)
2 JL—k 2 $5400 FB125%9
3 mARILE-ZTILFuk 45 | S5400 M16 X 80 X 65
4 NAERILLETILF Uk 45 | SS400 M20 x 100 x 85
NAERILLETILF Uk (4%)| SS400 (M16 % 90 X 75)
5 NAERILLETILF Uk 25 | $S400 M16 X 70 X 60
6 (Lt £ 4 SUS304 M20
(Lt £ 6(10)| SUS304 M16
7 BUE 6 SUS304 b 4x40




BAENE (EFERA) oxe—srwr

Pole Band Type W for Truss Beam 5 5 [X] 2 SB09040000
for High—speed Rail ~Shinkansen (72500000)

4
.4
N
6
30 208 30, 4—917.5
0 0
[qV] (@]
— - TT i TT T— =
| P |
ﬂ} {}—ZW-——€£ ¢ o
— 1
©F F§4 | TL| €
$ A ;;D
—h N .
10 ] I§
N 4—¢21.5 o
D=350 H REE:1350 kg
RIS B om A = ® B " &
1 VAW X7.N 15 | $S400 FB125x9
2 JL—k 2 $5400 FB125%9
3 mMAEIvERILE- 2T v 45 | SS400 M16 X 80 X 65
4 NAERILLETILF Uk 45 | SS400 M20 x 100 x 85
5 ANEIVARILL-ETILFVR 45 | SS400 M16 X 70 X 60
6 (Lt £ 4 SUS304 M20
7 (Lt £ 8 SUS304 M16
8 | BElVEY 8 | SUS304 d4%40

239



CER S VAW N (FhEsiR ) wrnzusas

Pole Band for Guy Wire Anchor in Tunnel 5 5 [X]# SB99140000
for High—speed Rail ~ Shinkansen (72420000)
J:‘
- a o
(@)}
N
<
+
(o)
T T
45J| 220 220 J 45
530
| -
A ! py 3
T | T 9 1,
i :::I: ’ I:::::I i 4¢ o 8 "r‘_7
N | N <
hlil} i LR 2
2—¢$23.5 4—¢21.5
D=216.3 HFEE:2050 kg
B B & 4 = B " &
1 VAW X7.N 15 | $S400 FB150 % 9
2 NAERILLETILF Uk 45 | S5400 M20 % 90 X 75
3 NAERILLETILF Uk 45 | SS400 M22 X 95 X 75
4 (Lt £ 4 SUS304 M20
5 (Lt £ 4 SUS304 M22
6 FERP B HIEHF VR 4 SUS304 M20
7 FERP B HIEHF VR 4 SUS304 M22
8 BUE 4 SUS304 ®5%50




BN (FRRRA) e0smn

Pole Band for Feeder Anchor . X SB99040000
for High—speed Rail “Shinkansen” (7240000)

Q
[

N

™

515!
&
62.5 | 62.5
125

30
]

D=350 S RE=:1383 ke

i B & 4 = # B " &
1 INVERIR 15 | SS400 FB125%9
2 | RARILMETILFyb 45 | S$S400 M20 x 120 X 95
3 RAIVIRILE-Fub 15 | SS400 M20 X 120 X 65
4 EhEE 4 | SUS304 M20
5 | BlYEY 1 SUS304 b4 x40

241



%E'.*i/ \DI‘ (%ﬁﬁ?ﬁﬁﬁﬁ ) ROLXEE BEAR

Pole Band Type Right-angle for Supporting Insulator, 5 [X] 2 SB99150000
High—speed Rail “Shinkansen (7232000)
| o
3 ! 30,25
| P °
/ ! L\ nal
-H S —IH-®
[ N 4 JE—
ﬁ ’ ’
5 L | '
@
| i
T ——®
o
100 2—917.5
50_, 50
@ S
N
ﬁr 2-917.5
N iF"L_Ti ol o PER
[ Hl oo < Q
$/l !L__%__J! i J\W S
(% o
N
D=350 M REE 460 ke
o & i & A = o B wm =
1 INVERR 15 | $S400 FB50 X 6
2 | FL—Fk 1 SS400 FB100 X 6
3 NAERILLETILF Uk 25 | $S400 M16 X 90 X 75
4 NAERILLETILF Uk 25 | $S400 M16 X 65
5 (Lt £ 2 SUS304 M16
6 | hESE 2 | SS400 M16
7 | ElYEY 2 | SUS304 b4 %40

242



B/ NF GREREER) soizsm waw

Pole Band Type Parallel for Supporting Insulator, 5 (X2 SB99160000
High—speed Rail = Shinkansen (72310000)

\ ©
' 30,25
3 | -
4 o
/ i \
-H+— — %
[ " i "4 —
@/H ‘ ©
. |
—Im I i 4
i I i
it ®j¢# ©
240
2—817.5
30 180 30 53175
) P R R A
ol e S (e
P U ]_L___l___J_l _____ 8 I
|
|
D=350 MR EE:460 ke
B B & 4 = ® B " &
1 VAW X7.N 15 | $S400 FB50 X 6
2 | FL—k 1 S$5400 FB100 X 6
3 NAERILLETILF Uk 25 | $S400 M16 X 90 X 75
4 NAERILLETILF Uk 25 | $S400 M16 % 65
5 (Lt £ 2 SUS304 M16
6 HWES 2 S$5400 M16
7 | ElYEY 2 | SUS304 b4 %40

243



BN FRRRA) s

Pole Band for Anchoring in Bulk 5 5 X2 SB99240000
for High—speed Rail ~ Shinkansen (75300000)

i o

25,35 } 35, 70 30
I [}

M | m [T
1 A _ I B BN
il Y 1 i

= ——
2 3 | i ],

—h

30

H
ol e
|

D=350 4 RE=:13.90 ke

i B & 4 = # B " &
1 INVERIR 15 | SS400 FB125%9
2 | RARILMETILFyb 45 | S$S400 M20 x 120 X 95
3 RAIVIRILE-Fub 15 | SS400 M27 X 120 X 65
4 EhEE 4 | SUS304 M20
5 | BlYEY 1 SUS304 ®5 %50

244



BN GFRRERA) awosrvrm tn

Pole Band for Hinged Cantilever Upper Side 5 (X2 SB05080000
for High—speed Rail ~Shinkansen (71010000)
90
- }—
o
! o e
——— =iy =
? |
O ~—Y ! ¢ 1
M)
0 !:'E £
9 2|5_ 9
70 77%
0, o) q/
! p—— ‘ T o, Yy
| =R KR
ol | o ey i ol e
S i F=={-- E_—LO_ :—:— m =
| ﬁEBB I
| — ‘ — o 2

D=350 M REE:12.50 ke

i B ® % = # B " &
1 INVERIR 15| SS400
2 | B8 1 $S400 L&A
3 | RARILMEITILFyb 45 | S$S400 M16 x 90 x 75
4 | RAIYARILL-FTILFyE 15| SS400 M16 X 120 X 30
5 EhEE 4 | SUS304 M16
6 | BYEY 1 SUS304 b4 x40

245



CER S VAW N (FhERERR) awosrurm

Pole Band for Hinged Cantilever Lower Side 5 [X] 2 SB05090000
for High—speed Rail ~Shinkansen (71020000)

90

[l ®
I -—4—
g AR
|
i Q }
R R = e 21 1 B [ VRN WS
R
i N I N
; |
O \!f 1
=y W b [A
v HHES
N i_
91259
<o)
: = .
yml|
! T EHEB |
o —T—————L—O——E—-—r‘:—z——————— :—
A ©
| uEjia oy |
| — ‘ —
D=350 M REE:12.50 kg
RIS 0} om A = ® B " &
1 INVRARIK 15| SS400
2 BHEE 1 S$5400 TER
3 Es 1 C6191
4 NAERILLETILF Uk 45 | SS400 M16 X 90 X 75
5 NAEVERILEFUR 15| 55400 M16 X 120 X 30
6 (Lt £ 4 SUS304 M16
7 | ElYEY 1 SUS304 b4 %40

246



BAE/ A (GhEFIRA)

FWHR{+H

Pole Band (for Shinkansen) for Mounting FW

[X]# SB10070000
(77350000)

50, 50 40 _20

—

2—¢17.5 2—-¢13.5
o 4 ! A\ i
o N (j{| | | Q_l_é_{)__
O [
N A i AN !
D=350 R EE:345ke
AL S ME 7 g &
1 NVFRAR 1 $3400 FB50 X 6
2 INURBE 1 $S400 FB50 X 6
3 | RARLLETILFvk 25 | SS400 M16 X 90 X 75
4 IThEs 2 SUS304 M16




BAE/ANUEN (FTEFER ) smunmwes

Pole Band for Steel Pipe Earthing 5 5 (X2 SB99170000
for High—speed Rail ~ Shinkansen (77340000)
Q
@\25 30 ‘ 30, 50 _20
o[y $ N\,
g T i E——
)

@%
_|____
—T

2—¢17.5 $13.5

Z\

50
25,25
N
o]
|

D=350 L RE=:336 ke

i B ® % M= # B " &
1 INURAR 1 SS400 FB50 X 6
2 | INURBE 1 SS400 FB50 X 6
3 | RARILMEITILFyb 25 | $5400 M16 x 90 x 75
4 EhEE 2 SUS304 M16

248



BNV (FTEFER ) mrc—sm nsy

Pole Band for Fixed Beam with Joint, 5 5 X2 SB99180000
High—speed Rail =~ Shinkansen (74020000)

|
} _40_,30
3 | ©
| n,_°
_ S R D
1 ’ 1 —(\j_
| (0]
j ] t
1&2
!
|
e =+
70
5X2
ie)
4—921.5 o
| N
| I— |_ ______ | | = J
Jol-——fo ol —Jolie
S 1 I ©
— i ___.___ | —
| o)
N
M)
D=350 MR EE:950 ke
o 0} om A = ® B " &
1 INVRERK 15| 85400 FB65 %9
2 FRlavaRiLk-4TLFvk| 45 | SS400 M20 x 96
3 NARI ST ILF vk 25 | $S400 M20 x 100 x 85
4 (Lt £ 6 SUS304 M20
5 BUE 4 SUS304 d4x40




CER S VAW N (FhER IR ) mre—sm somL

Pole Band for Fixed Beam without Joint, 5 5 X2 SB99190000
High—speed Rail = Shinkansen (74010000)

oBoBoBofolaq

iy

i 6-—18X22

D=350 3 R E = :30.00 ke

i B & % = % B " &
1 INURARIEK 25 | S$S400
2 A CRILE-FTILF vk | 85| SS400 M20 X 96
3 | RARILMEITILFyb 45 | SS400 M20 x 100 X 85
4 | RAYARILL-FTILFvE 25| SS400 M20 X 80 X 65
5 ABIVARILL-ZTILFuN 45| SS400 M20 X 70 X 55
6 | RARILMEITILFVb 125 | SS400 M16 X 60 X 40
7 EhEE 18 | SS400 M20
8 | HRWDHILEHFVE 4 | SUS304 M20
9 | BIYEY 14 | SUS304 b4x40




BN F GHERRERA) mxe—sm wrosy

Pole Band for Fixed Beam with Joint (Special), 5 X SB99200000
High—speed Rail = Shinkansen (7251000)

10 ofE

. ll L l) il (il
0|0 fh o
D

290
6—021.5 8-821.5 |40 70 20 20
— i \
e Y N Y- O -+9
o0 Lol
«© — ! ;
LO | S— . .

o) ——tolo—o0—opltd 5
<o) — ! | )
«© —] 1

B——o-l-o——T-0-18

| — | i
D=350 & R EE:36.00 kg
RIS 0} om A = ® B " &
1 INRRIK 35| s5400 FB65 %9
2 mHCHRILE-ZTILF vk | 125 ] SS400 M20 % 96
3 NAERILLETILF Uk 65 | SS400 M20 x 100 x 85
4 ANEIVARILL-ETILFVR 45 | SS400 M20 %X 70 x 60
5 (Lt £ 22 | SUS304 M20
6 | BlVEY 16 | SUS304 b4 %40

251



BN EFERRA) 2usms

9
@

Pole Band for Guy Wire Anchor 5 5 [X] 2 SB99050000
for High—speed Rail ~Shinkansen (7241000)
1

|
‘ %)
|

: |
. 35, 3Q

o] N\ P ® |

e S == |

(w___ __:___—___—___ e -

‘ |

|
|
|
|
|

D=350 L REE:640kg

i B ® % = # B " &
1 INVERIR 15| SS400 FB65 %9
2 | RARILMETILFyb 25 | $5400 M22 x 100 X 85
3 EhEE 2 SUS304 M22

252



CER S VAW N (FrEFHRFH) snesem i

Pole Band for Upper Side of Protective Wire for Insulator, X & SB99210000
High—speed Rail =~ Shinkansen (72200000)

}

N
G
O/®
G
O
o
&

|
L
|
|
|
|
|
|
|
|
|
=:
|
6‘25 6

N
[@)}
o
X
N
(&N
32.5

-
32.5

D=350 M REE 520 ke

i B ® % = # B " &
1 INVERIR 15| SS400 FB65 X 6
2 | #u8E 1 SS400 b 16
3 | Al 1 $S400 b 16
4 | RARILMETITILFyb 25 | $5400 M16 x 90 x 75
5 EhEE 2 SUS304 M16

253



CER S VAW N (PrEFHRFH) snesem v

Pole Band for Lower Side of Protective Wire for Insulator, (X2 SB99220000
High—speed Rail = Shinkansen (75000000)

| 1
2—18%24
| 3
/ |
|
2 A{/® |
S, io 3025
o | Y/ ) N ©
N S o =im
N0 | -
o | il |
5 || 50 ‘
235 |
|
2-617.5 %
N

|
|
|
|
|
|
|
|
|
-
|
|
|
|
&

32.5

D=350 L REE 527 kg

i B ® % = # B " &
1 INVERIR 15| SS400 FB65 X 6
2 RftEE 2 SS400
3 | RARILMEITILFyb 25 | $5400 M16 x 90 x 75
4 EhEE 2 SUS304 M16




TR\ (FTRRIER) wonm wansy

Pole Band for Parallel Frame with Stiffener, 5 5 (X2 SB11010000
High—speed Rail =~ Shinkansen (72100000)

360
30 300

M

d

30‘ 400 ’30
460

N}
|
S
N
wn
T
S
N
w

45 | 45
%I AN
|
|
|
|
|
|
|
|
30| 65 |30
125

D=350 4 RE=:18.85 ke

i B ® % = # B " &
1 INRRIK 15 | SS400 FB125 % 6
2 | RARILMETILFyb 45 | S$S400 M20 x 100 X 85
3 | RARILMEITILFyb 25 | $5400 M20 X 75 X 60
4 | RARILMETITILFyb 25 | $5400 M16 X 70 X 50
5 EhEE 6 SUS304 M20
6 EhEE 2 SUS304 M16
7 | EYEY 4 | SUS304 ® 4 x40

255



TR/ (FTERIRR) wonmmmun

Pole Band for Parallel Frame without Stiffener, 5 [X]Z SB11020000
High—speed Rail =~ Shinkansen (72110000)
! 30,25
2 \Q
i@ M ©
B A ‘F TS
[§\i
= | T o
] : | &
| 1
| 3
|
hd ha
30 400 30\@
460
2—¢21.5 4—¢21.5
| \
- i T— /| o©
2 ’ 7 M
3 Y | 1
ble g
LQ AN ﬂ» L -
AN | v O
— : ! M
D=350 M RE=:12.10 kg
B B & 4 = ® B " &
1 INRRIK 15| 55400 FB125 %6
2 NAERILLETILF Uk 45 | SS400 M20 x 100 x 85
3 NAERILLETILF Uk 25 | $S400 M20 X 75 X 60
4 (Lt £ 6 SUS304 M20
5 | BlVEY 2 | SUS304 b4 %40




BN GEFRERRA) neex

A

CHREBENMA

Pole Band for Mounting Discharge Current Recording Device,
High—speed Rail =~ Shinkansen

50

i ©
i 1
JS ;
‘ T T
_ o S | | | P
: 1=
| 146
S i
@) J [ 7,
M N V, -
S
6 _|25|| 6
50
4—p115 —m20
|
[f9) | N | ) p— m——
m My ol
%{%@} 19
N | e | (@] ) .
- ™~ ’
- ¢T$
[ |
6 N
D=350 MR EE:392 ke
o 0} om A = ® B " &
1 INVRERK 15| 85400 FB50 X 6
2 Bt&E 1 55400 FB50 X 6
3 NAERILLETILF Uk 25 | $S400 M16 X 90 X 75
4 (Lt £ 2 SUS304 M16




50 = AN NI

Pole Band for Mounting Lightning Arrester

[X]# SR01320000
(90150408-29)

‘ |
|
2 | 35 30
| © \t
] ! ® \\Ln o)
— S R I _ 1O
] N
O Yy ]
ol ’ o
—| 00 1
| ’ ]
S i
618 ’
i
:\;
|I
== 3-¢14
2-922 0
N
N

110

65

Va
< T :
(@) P
Py S B
Z\ | I~

Too
g

D=350 L REE:681 ke

i B & 4 M= % B " &
1 INRRIK 2 SS400 FB65 X 9
2 | RARILL-FIb 25 | S$S400 M20 x 100 X 85
3 EhEE 2 SUS304 M20
4 | RARILL-FUb 2% | sSUS304 M12 x 35
5 EhEE 2 SUS304 M12
6 | Tui— 2 | SUS304 M12
7 A ) 1 SGP $272%28
8 | FL—Fk 1 SS400 FB32X 4.5

258



TR/ srrzmatmsp-a)

Pole Band for Mounting SP Insulator (SP-40)

[X]# SR01330000
(90150408-30)

2 _
' <1 ——=n-4p
__:__ 4__(:[ I _3,___0___ _i_: |
| - L
] e ’ N — D
0 al
M~
65
9 9 32.5 32.5
i 2—p22
= i
J T/
1 6 120
D 2 »
o 1R 8 ] '_:@QLF, |
Q =Y o /\é{
y \ ?E\:‘:él
4—p14/
\ ™ — ]
/ ¢ \
_{ -4
&=
100
D=350 MR EE:7.16 kg
o B & 4 #H= ® B " &
1 VAW X7.N 2 SS400 FB65 %9
2 BT TS5k 1 S$5400 16
3 JL—k 2 $5400 6
4 NAERILLETILF Uk 25 | $S400 M20 x 100 x 85
5 (Lt £ 2 SUS304 M20
6 NARILE 4% | $5400 M12 % 20
7 (Lt £ 4 SUS304 M12




CSX =AW N

B & 25 F D=400

Pole Band for Disconnecting Switch D=400

X & SB99280000

SES
32
3¢o
‘ o
(@]
i <
1i2
|
o ' o
I N I %__}_ N I S Y
|
HMOEE:1637 ke
S B & 4 = ® B " &
1 INVRERK 15| 55400 FB125 %6
2 NAERILL-FIk 45 | SS400 M20 x 100 x 85
3 (Lt £ 4 SUS304
4 BitE&E 2 S$5400 FB75% 6




%EI.*I/ {DP WTB #B 7 — L

Pole Band for WTB Auxiliary Arm X # SB99290000
<)
|
l | I ]
1 i LU
N | N
i ) | C | .
| ! Q |
S | i o}
__g_ 5
(o))

! o
00
943 u
4—923.5
— | =S
O I ~O O
il_1 i r_li
HNEEE 971 ke
B B & 4 = B " &
1 INRRIK 15| 55400 FB65 % 9
2 NARILLFIk 25 | SS400 M22 X 100 X 85
3 NARILLFIk 25 | SS400 M22 X 80 X 65
4 L kS 4 SUS304
5 | By 2 | SUS304 ¢ 5 x50




50 = AN NI

Pole Band for Supporting Lightning Arrester

X & SB99300000

; 312
2 NHH
[Ye! _—l-u—
o |
| O
| L1l ]
| |
__:__—________
|
HWOFE:406ks
o 0} om A = ## " &
1 ER = TAWIN 15| 85400 FB50 X 6
2 Bt&E 1 55400 FB50 X 6
3 NARILE-WHyk 25 | $S400 M16 X 90 X 75
4 (Lt £ 2 SUS304




